a.u./ 1.12

a.u./ 1.12

0.06 =———

(OO AN L L B B BN B B N = T 1 LA B I
ATLAS Internal ] 4 . ATLAS Internal .
0.06 Hozz" opze ~ 0.05F Hozz"o4e
] S C ]
3 © C ]
0.05 : 0.04F + ++ 3
0.04 3 . + H .
. 0.03F 3
0.03 3 - ]
] 0.02F 3
0.02 3 5 » ]
0.01 = 0.01: .
L 3 EL I Ll L, 988, .

Q % 60 70 80 90 100
m, [GeV] m, [GeV]
: ] " ATLAS  Internal ] S oo0ek o " ATLAS  Internal 3
r nterna - H r nterna -
0.06 E ) b ~ 0.06 E = 2 fqq = 50% MELA pdf “ b
C HozzZ o 2e2u 13 ~ C HozZ - 4u ]
0.05F 3 3 005 3
r + ] L @ 2 fgg=50% JHU mcl2a ]
0.04 4 ¢’ = 0.04F =
0.03 = 0.03F ¢ E
0.02F 3 0.02F 3
- . E o ]
0.01fF 3 0.019® 3
y 3 y L PR T T S [ SR SR S N N N S R N S S <

%% 100 % 60 70 80 90 100

m, [GeV] m, [GeV]



	Contents
	Page 1


